374  Rational Expressions and Equations Lesson #1:  Simplifying Rational Expressions Part One

ﬁ@ A rational expression is in simplest form if its numerator and denominator have no common

factor other than 1.

ClassEx.#1 |  Express in simplest form, stating the nonpermissible values of the variable.
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Complete Assignment Questions #1 - #8
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1.) Determine the nonpermissible values of the variable.
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@ Express in simplest form, stating the nonpermissible values of the variable.
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3. Express in simplest form, stating the nonpermissible values of the variable.
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@l’he area of a soccer field is represented by a® - 12a + 32 square metres.
a) Find a simplified expression for the length of the field if the width can be represented
by a - 8 metres. 2
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b) Calculate the ;rc___i of the field if a = 90.
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@ Reduce to lowest terms, stating the restrictions on the variable.
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7. In the rational expression ;(-;+—7) , the nonpermissible value(s) of a are

Nl
A, 3,-7 B. 0,3, -7 0(#0, ol
@ 0, -7 D. -7
- A
Numerici x2 +13x + 40 64 + x*
S8, The rational expressiorls — and have one nonpermissible
- 13x + 40 4-x

value in common. Th onpemu351ble val

(Record your answer in fhie numerical response box from left to right.) g’
(x-S)KA (§1Y8+x)
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Answer Key
7
1. a) xmg b) ym-=2 c) an=s d) a=-5-4 e) ym(
1
f)x-:; g) gm0 h) xu=-12,-1 t)dmd
3
2. a) E.an(} b) Si,y-n{) c) a+3,a--l,8 &) ﬁ-7—x--l4,0,2
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3. a) —, +9 b 5y -6, - c ) - d) ——,x=-10
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4. a) a-4 metres b) 7052 square metres
- - -5
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y-4 x+1 a-2 p=-2
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